do/dlog;y(d23/GeV) [pb]

Ratio

log,,(k, jet resolution 2 — 3 [GeV])

10

10 ;\ I L‘—‘f‘—‘ ‘ T 1T ‘ T 1T ‘ T 1T ‘ T 1T T 1T I \7\:
F = = E

= g i
109 = = =
- = 3
108 & = —=
; I:_l ;
107 = 0 -
& —+— Analysis CSS_FF_1em E
106 —+— AnalysigZ6SS_FI_1em ]
8 —+— Analysis GSS_IF_1em E
105 — Analysis_ —ljl_wm ]
104 E EE =
I T R T I
14 £ H \ \ \ | g
1.3 - | i
12 £ ‘ =
1}? = -.II."""IIII|||||- 7%
09 1 I H =
0.8 E- =
0.7 E —=
8:% ; | ‘ I I ‘ I ‘ I ‘ T ‘-4 | | ‘ | \E

0.5 1 1.5 2 2.5 3 3.5

log,((d23/GeV)



